

Texas General Land Office Disaster Recovery

Construction Contract Change Order Request Form

	00110111	one of the original	500	rdor rece	quest i orm
Engineer: Cobb, Fendley & Associates, Inc. 1920 Country Place Parkway, Suite 310 Pearland, Texas 77584		Owner: City of League City 300 W. Walker League City, Texas 77573		Contractor: Paskey Incorporated 128 South 8 th Street La Porte, Texas 77571	
Phone No.: 281-993-4952		Phone No.: 281-554-1000		Agreement Date: 3/8/2016 Phone No.: 281-941-9321	
Date: 8/2/2016 Project Code No.: 1212-026-03 Bid Package No.: 220609-1_BID1		Contract For: Shellside Drainage Improvements		GLO Contract No.: 13-179-000-7292 Change Order No.: 1	
You ar	e hereby requested to comply wit	h the following changes from the cor	ntract p	lans and speci	fications:
Item No.	Description of Changes: Quantities, Units, Unit Prices, Change in Completion Scheduled, Etc. Mult. Box Straight Headwall for 3-4'x2' RCB, Bid Item		Decrease in Contract Price		Increase in Contract Price \$26,325.00
2	No. 36, 1 EA @ \$26,325.00/EA Hydro Mulch Seeding, Bid Item No. 47, 2.81 AC @ \$1,399.00/AC		(\$3,931.19)		
3	Remove and Dispose of 12" Storm Sewer Pipe, Bid Item No. 48, 4 LF @ \$11.00/LF		(\$3	3,124.00)	

4	Remove and Dispose of 15" Storm Sewer Pipe, Bid Item No. 49, 518 LF @ \$11.00/LF	(\$5,698.00)	
5	Remove and Dispose of 18" Storm Sewer Pipe, Bid Item No. 50, 23 LF @ \$11.00/LF	(\$253.00)	
6	Remove and Dispose of 24" Storm Sewer Pipe, Bid Item No. 51, 3 LF @ \$11.00/LF		\$33.00
7	Removing Stabilized Base and Asphalt Pavement (All Thicknesses), Bid Item No. 52, 1,807 SY @ \$3.93/SY		\$7,101.51
8	Removing Concrete Driveways (All Thicknesses), Bid Item No. 53, 461 SY @ \$3.93/SY		\$1,811.73
9	Dense-Graded Hot-Mixed Asphalt (Method), Type D, (2-Inch Thickness), Bid Item No. 54, 19 TONS @ \$152.42/TON		\$2,895.98
10	6-Inch Flexible Base (Limestone), Including Tack Coat, Bid Item No. 56, 195 TONS @ \$40.65/TON	(\$7,926.75)	
11	8-Inch Flexible Base (Limestone), Including Tack Coat, Bid Item No. 57, 83 TONS @ 48.02/TON	(\$3,985.66)	
12	Driveways, Reinforced Concrete (4-Inch Thickness), Bid Item No. 58, 756 SY @ \$62.23/SY	(\$47,045.88)	
13	2-Inch Compacted Bank Sand, Bid Item No. 59, 756 SY @ \$2.07/SY	(\$1,564.92)	
14	Roadside Ditch Grading, Bid Item No. 60, 5,768 LF @ \$9.31/LF	(\$53,700.08)	
15	3'x3' Junction Box Structure, Bid Item No. 61, 1 EA @ \$1,480.00/EA	(\$1,480.00)	

			79	
16	15" RCP Storm Sewer (Class III) Tongue & Groove, Bid Item No. 62, 10 LF @ \$36.59/LF			
17	18" RCP Storm Sewer (Class III) To Bid Item No. 63, 1,861 LF @ \$38.90/L	(\$72,392.90)		
18	24" RCP Storm Sewer (Class III) Tor Bid Item No. 64, 556 LF @ \$46.03/LF	ngue & Groove,		\$25,592.68
19	Type D-Inlet, Bid Item No. 66, 2 EA @	(\$3,030.00)		
20	Driveway Headwall for Single Barrel, Bid Item No. 71, 2 EA @ \$3,020.00/EA			\$6,040.00
21	Driveway Headwall for Double Barrel, Bid Item No. 72, 12 EA @ \$3,250.00/EA		TV.	\$39,000.00
22	6-Inch Curb, Bid Item No. 74, 1,094 LF @ \$9.13/			\$9,988.22
23	Driveways, Reinforced Concrete (6-Inch Thickness), Bid Item No. 75, 1,234 SY @ \$82.80/SY			\$102,175.20
24	Cement Stabilized Sand, Bid Item No. @ \$32.50/TON		\$21,937.50	
Chan	ge in Contract Price	Change in Cor	ntract Time (Cale	ndar Days)
Original Contract Price: \$3,462,251.78		Original Contrac	ract Time: 300	
Previous Change Order(s):		Net Change From Previous		
No. to No. \$0.00		Change Orders:		0 days
Contract Price Prior to		Contract Time P	rior to	
this Ch	nange Order: \$3,462,251.78	this Change Ord	ler:	300 days

Net Increase/Decrease of this Change Order:	\$38,402.54	Net Increase/Decrease of this Change Order:	0 days
Contract Price With all Approved Change Orders:	\$3,500,654.32	Contract Time With all Change Orders:	300 days
Cumulative Percent Change in	Contract Price (+/-): +1.11%	Grantee Contract End Date: (mm/dd/yy)	12/31/2018
Construction Contract Start Dat (mm/dd/yy)	e: 3/8/2016	Construction Contract End Date: (mm/dd/yy)	8/4/2016

Reimbursements of costs included in this change order are subject to review by the GLO-DR program.

* This document may be executed prior to submission for GLO-DR program review, but all parties involved will be held responsible if the change order or the amendment warranted as a result of this change order is not in compliance with CDBG or HUD requirements.

RECOMMENDED:

By: Cimberly Walde

ENGINEER

Date: 8-16-16

APPROVED

214111111

OWNER

Salar &

ACCEPTED:

CONTRACTOR

Date:

JUSTIFICATION FOR CHANGE

Will this Change Order increase or decrease	11		
the number of beneficiaries?	☐ Increase	□ Decrease	☑ No Change
If there is a change, how many beneficiaries will be	affected?	Total	L/M
2. Effect of this change on scope of work:	☐ Increase	□ Decrease	☑ No Change
Effect on operation and maintenance costs:	☐ Increase	☐ Decrease	⊠ No Change
4. Are all prices in the change order dependent upon ur	nit prices		ŭ
found in the original bid?		☐ Yes	⊠ No
If "No", explain: Items 12-16 are additional items to	the original bid		
due to changes in field conditions.			
5. Has this change created new circumstances or enviro	onmental		
conditions which may affect the project's impact, suc	h as		
concealed or unexpected conditions discovered during	ng actual		
construction?		□ Yes	⊠ No
If "Yes", is an Environmental Re-assessment required?			
6. Is the Texas Commission on Environmental Quality (T	CEQ)		
clearance still valid? (if applicable)		□ Yes	□ No
7. Is the TCEQ permit approval still valid? (sewer project	s only)	□ Yes	□ No
8. Are the handicapped access requirements/approval			
still valid? (if applicable)		□ Yes	□ No
9. Are other Disaster Recovery contractual special conditi	on clearance		
still valid?		⊠ Yes	□ No
(If no, specify):			

NOTE:

 Generally, a cumulative change in the contract price in excess of 25% cannot be reviewed (18% decrease for counties).

